
Q.1 िदए गए िवकʙों मŐ से वह संƥा चुनŐ जो िनɻ ŵेणी मŐ Ůʲिच˥ (?) के ̾थान पर आ सकती है।

14, 20, 34, 72, 182, ?

Ans 1. 580

2. 308

3. 380

4. 508

Question ID : 65497844193

Status : Answered

Chosen Option : 4

Q.2 एक अितिथ से रेशमा का पįरचय कराते Šए, एक मिहला, कįरʳा ने कहा, "वह मेरे ससुर की बेटी की
बेटी है"। रेशमा का कįरʳा से ̋या संबंध है।

Ans 1. बहन

2. चचेरी बहन

3. भाभी

4. भांजी

Question ID : 65497842674

Status : Not Answered

Chosen Option : --
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Q.3

Ans

1. 

2. 

3. 

4. 

Question ID : 65497842685

Status : Answered

Chosen Option : 2



Q.4

Ans

1. 

2. 

3. 

4. 

Question ID : 65497842791

Status : Marked For Review

Chosen Option : 1

Q.5 एक िनिʮत कूट भाषा मŐ, 'MOHAN' को 39-45-24-3-42 के ŝप मŐ कूटबȠ िकया जाता है और
'KABIR' को 33-3-6-27-54 के ŝप मŐ कूटबȠ िकया जाता है। उसी कूट भाषा मŐ, 'RAGHU' को िकस
ŝप मŐ कूटबȠ िकया जाएगा?

Ans 1. 36-2-14-24-42

2. 36-3-14-16-63

3. 54-3-21-24-63

4. 54-2-21-16-42

Question ID : 65497842166

Status : Answered

Chosen Option : 3

Q.6 िदए गए समीकरण को संतुिलत करने के िलए िकन दो िच˥ो ं को आपस मŐ बदला जाना चािहए?

13+15×8 ÷96−4=109

Ans 1.  − और +

2.  × और −

3.  ÷ और −

4.  + और ÷

Question ID : 65497844198

Status : Answered

Chosen Option : 3



Q.7 एक िनिʮत कूट भाषा मŐ, 'Tim Dim Kim' का अथŊ 'India Is Big' है और 'Dim Gim Kim Se Rim' का
अथŊ 'Tiger Is A Big Cat' है। 'India' के िलए िनɻिलİखत मŐ से िकस कूट का Ůयोग िकया गया है?

Ans 1. Gim

2. Tim

3. Kim

4. Dim

Question ID : 65497842874

Status : Answered

Chosen Option : 2

Q.8

Ans

1. 

2. 

3. 

4. 

Question ID : 65497842688

Status : Answered

Chosen Option : 4



Q.9

Ans

1. 

2. 

3. 

4. 

Question ID : 65497842184

Status : Answered

Chosen Option : 3

Q.10 यिद िकसी संƥा के 80% का मान 768 है, तो उस संƥा के 5% का 40% िकतना होगा?
Ans 1. 13.5

2. 16.4

3. 20.6

4. 19.2

Question ID : 65497842781

Status : Answered

Chosen Option : 4



Q.11 िनɻिलİखत समीकरण को संतुिलत करने के िलए िकन दो संƥाओ ं(अंको ं को नही)ं को आपस मŐ
बदलने की आवʴकता है।

8 + 48 ÷ 12 × 5 - 13 = 29

Ans 1. 12 और 13

2. 8 और 12

3. 13 और 8

4. 8 और 5

Question ID : 65497842682

Status : Answered

Chosen Option : 2

Q.12 अƗरो ं के उस संयोजन का चयन कीिजए, िजसे दी गई Şंखला के įरƅ ̾थानो ं मŐ ŢमबȠ ŝप से रखने
पर Şंखला पूणŊ हो जाएगी।

IMM_ _ILEI_ _OBI_ _IMMO_ _LE

Ans 1. BOMLMEIB

2. OBMMLEBI

3. OBLMLBIE

4. BOLMLIEB

Question ID : 65497843582

Status : Answered

Chosen Option : 2

Q.13

Ans

1. 

2. 

3. 

4. 

Question ID : 65497842889

Status : Not Answered

Chosen Option : --



Q.14 चार अƗर-समूह िदए गए हœ, िजनमŐ से तीन िकसी न िकसी Ůकार से समान हœ और एक असंगत है। उस
असंगत अƗर-समूह का चयन करŐ।

Ans 1. CEV

2. KMN

3. MPI

4. QSH

Question ID : 65497842870

Status : Answered

Chosen Option : 3

Q.15 िदए गए िवकʙों मŐ से उस अƗर-समूह का चयन करŐ जो िनɻ Şंखला मŐ Ůʲिच˥ (?) के ̾थान पर आ
सकता है।

CLAY, DIFX, EFKW, FCPV, ?

Ans 1. HZUW

2. HUZT

3. GZUU

4. GUZU

Question ID : 65497844181

Status : Answered

Chosen Option : 3

Q.16 एक िनिʮत कूट भाषा मŐ, 'BLUES' को 'HVFOY' िलखा जाता है। उसी कूट भाषा मŐ, 'FORCED' को
Ɛा िलखा जाएगा?

Ans 1. WVXILU

2. ULIXVW

3. XVWLIU

4. WVXJKU

Question ID : 65497843579

Status : Answered

Chosen Option : 1

Q.17

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844201

Status : Answered

Chosen Option : 3



Q.18 िदए गए िवकʙों मŐ से वह संƥा चुिनए जो िनɻिलİखत ŵेणी मŐ Ůʲवाचक िचɎ (?) के ̾थान पर आ
सकती है।

74, 101, 128, 155, ?

Ans 1. 198

2. 182

3. 173

4. 210

Question ID : 65497842879

Status : Answered

Chosen Option : 2

Q.19 चार िमũ, H, I, J और K, एक वगŊ के चारो ं कोनो ं पर इसके कŐ ū की ओर अिभमुख होकर बैठे हœ। H और
J ितयŊक ŝप से स̱मुख कोनो ं पर बैठे हœ। I, H के ठीक बाएं बैठा है। J के ठीक दाएं कौन बैठा है?

Ans 1. J

2. H

3. I

4. K

Question ID : 65497842675

Status : Answered

Chosen Option : 3

Q.20 िदए गए कथनो ंऔर िनʺषŘ को ȯानपूवŊक पढ़Ő। यह मानते Šए िक कथनो ं मŐ दी गई जानकारी सȑ है,
भले ही वह सामाɊ ŝप से ǒात तȚो ं से िभɄ Ůतीत होती हो, तय करŐ िक िदए गए िनʺषŘ मŐ से कौन
से िन̽कषŊ कथनो ं का तािकŊ क ŝप से अनुसरण करते हœ।

कथन:
कुछ कुदाल, चाकू हœ।
सभी चाकू, सांचे हœ।

िनʺषŊ:
I. कुछ चाकू, कुदाल हœ।
II. कुछ सांचे, चाकू हœ।

Ans 1. न तो िनʺषŊ I और न ही II अुनसरण करता है।

2. केवल िनʺषŊ I अनुसरण करता है।

3. िनʺषŊ I और II दोनों अनुसरण करते हœ।

4. केवल िनʺषŊ II अनुसरण करता है।

Question ID : 65497844191

Status : Answered

Chosen Option : 3



Q.21 उस िवकʙका चयन करŐ जो तीसरी संƥा से उसी Ůकार से संबंिधत है िजस Ůकार दूसरी संƥा पहली
संƥा से संबंिधत है।

13 : 1728 :: 17 : ?

Ans 1. 2043

2. 3218

3. 4096

4. 1928

Question ID : 65497842174

Status : Answered

Chosen Option : 3

Q.22 उस सही िवकʙ का चयन करŐ जो िदए गए शɨों को उस Ţम मŐ दशाŊता है िजस Ţम मŐ वे अंŤेजी
शɨकोश मŐ मौजूद होते हœ।

1. Malice
2. Malignant
3. Mallows
4. Malfunction
5. Malware

Ans 1. 4, 1, 2, 5, 3

2. 1, 4, 3, 2, 5

3. 4, 1, 2, 3, 5

4. 4, 2, 1, 3, 5

Question ID : 65497842970

Status : Answered

Chosen Option : 3



Q.23

Ans

1. 

2. 

3. 

4. 

Question ID : 65497842179

Status : Answered

Chosen Option : 2

Q.24 िन̱नांिकत पैटनŊ का ȯानपूवŊक अȯयन करŐ और िदए गए िवकʙों मŐ से उस संƥा का चयन करŐ जो
इसमŐ Ůʲवाचक िच˥ (?) के ̾थान पर आ सकती है।

12 36 60
72 3 4 63 4 12 98 ? 15
12 9 14

Ans 1. 4

2. 2

3. 3

4. 5

Question ID : 65497842883

Status : Not Answered

Chosen Option : --



Q.25 उस िवकʙका चयन करŐ जो तीसरे अƗर-समूह से उसी Ůकार संबंिधत है िजस Ůकार दूसरा अƗर-
समूह पहले अƗर-समूह से संबंिधत है।

GTQ : JVP :: SDK : ?

Ans 1. VFJ

2. VGK

3. UGF

4. UEK

Question ID : 65497842770

Status : Answered

Chosen Option : 1

Q.1 ______, पूरी तरह से ɘाİːक कचरे से बनी दुिनया की पहली पालनौका है, िजसका उȞेʴ महासागरो ं
मŐ ɘाİːक Ůदूषण के बारे मŐ लोगो ं की जागŝकता बढ़ाना है।

Ans 1. İɢपɢॉपी (Flipflopi)

2. िटŌ ɐŌ ोपी (Triptropi)

3. İɰपɰोपी (Blipblopi)

4. ि˘ɛनोपी (Snipsnopi)

Question ID : 65497842193

Status : Answered

Chosen Option : 1

Q.2 िनɻिलİखत मŐ से िकस दशक को संयुƅ रा Ō̓ महासभा Ȫारा 'वॉटर फॉर लाइफ (Water for life)' के
अिभयान के िलए अंतराŊ Ō̓ ीय दशक के ŝप मŐ घोिषत िकया गया था?

Ans 1. 2005 - 2015

2. 1972 - 1982

3. 1983 - 1993

4. 1994 - 2004

Question ID : 65497842800

Status : Not Answered

Chosen Option : --

Q.3 दो Ţमागत Şंगो ं के बीच की Ɨैितज दूरी Ɛा कहलाती है?

Ans 1. तरंग काल

2. तरंगदै̡ यŊ

3. तरंग की ऊंचाई

4. तरंग आवृिȅ

Question ID : 65497842702

Status : Answered

Chosen Option : 2

Section : General Awareness



Q.4 कŐ ūीय बजट 2021-22 के Ůावधानो ं के अनुसार, िकतने सावŊजिनक Ɨेũ के बœको ं को िविनवेश के िलए
तैयार िकया गया है?

Ans 1. दो

2. पांच

3. तीन

4. सात

Question ID : 65497842695

Status : Answered

Chosen Option : 1

Q.5 वʒŊ जİːस Ůोजेƃ 2020 के अनुसार, भारत के आिथŊक सवőƗण 2021 मŐ उद्धृत िनयामक ŮवतŊन मŐ
भारत की रœक Ɛा है?

Ans 1.  79

2.  56

3.  74

4.  62

Question ID : 65497842795

Status : Not Answered

Chosen Option : --

Q.6 कोलाइडल िसːम - जैसे गोदं, ːाचŊ, Ůोटीन, सेʞुलोज, अगर और िजलेिटन - जब पानी मŐ रखे जाते है,
तो पानी की एक बड़ी माũा को अवशोिषत करते हœ और फूल जाते हœ। ये पदाथŊ ______ कहलाते हœ।

Ans 1. पोįरɌ (porins)

2. इİɾबŐट्स (imbibants)

3. एपोɘाː्स (apoplasts)

4. कंबİːबʤ (combustibles)

Question ID : 65497842899

Status : Answered

Chosen Option : 2

Q.7 िनɻिलİखत मŐ से िकसे 2021 के ˙ोटŊːार एसीईएस (ACES) पुरˋार मŐ दशक का सवŊŵे̽ठ İखलाड़ी
(वैयİƅक गैर-ओलंिपक खेल) नािमत िकया गया था?

Ans 1. पŐटाला हįरकृˁ

2. िविदत संतोष गुजराती

3. िवʷनाथन आनंद

4. भाˋरन अिधबान

Question ID : 65497842816

Status : Not Answered

Chosen Option : --



Q.8 िहंदू िववाह अिधिनयम वषŊ ______ मŐ लागू िकया गया था।
Ans 1. 1955

2. 1952

3. 1953

4. 1956

Question ID : 65497842206

Status : Answered

Chosen Option : 4

Q.9 Ůाचीन चंपा शहर को ______ महाजनपद की राजधानी माना जाता है।
Ans 1. काशी

2. मȘ

3. अंग

4. वİǍ

Question ID : 65497842907

Status : Answered

Chosen Option : 3

Q.10 मृदुला िसɎा, िजनका नवंबर 2020 मŐ िनधन हो गया, ______ की पहली मिहला राǛपाल थी।ं
Ans 1. िमजोरम

2. गोवा

3. िũपुरा

4. हįरयाणा

Question ID : 65497842204

Status : Not Answered

Chosen Option : --

Q.11 आम तौर पर, वृहत् ǜार-भाटा और लघु ǜार-भाटा के बीच ______ िदन का अंतराल होता है।
Ans 1. दो

2. चार

3. नौ

4. सात

Question ID : 65497842906

Status : Answered

Chosen Option : 4

Q.12 िफʝ ______ मŐ 'सवŊŵेʿ गीत' के िलए गुलज़ार को 66वŐ िफʝफेयर पुरˋार से सʃािनत िकया गया।
Ans 1. लूडो

2. थɔड़

3. सर

4. छपाक

Question ID : 65497842708

Status : Answered

Chosen Option : 2



Q.13 िनɻिलİखत मŐ से कौन सा/से कथन सही है/हœ?

I- गांधी शांित पुरˋार, भारत सरकार Ȫारा 1995 से ̾थािपत एक वािषŊक पुरˋार है।
II- यह पुरˋार रा Ō̓ ीयता, नˠ, भाषा, जाित, पंथ या िलंग की परवाह िकए िबना सभी ʩİƅयो ं के िलए
है।
III- वषŊ 2020 का गांधी शांित पुरˋार बंगबंधु शेख मुजीबुर रहमान को Ůदान िकया गया।

Ans 1. केवल I

2. केवल III

3. केवल I और II

4.  I, II और III

Question ID : 65497842811

Status : Not Answered

Chosen Option : --

Q.14 िवȅ मंũी िनमŊला सीतारमण ने अपने बजट 2021-22 के भाषण मŐ तीन वषŘ मŐ देश भर मŐ ______ मेगा
टेƛटाइल पाकŊ ̾थािपत करने की घोषणा की।

Ans 1. सात

2. पांच

3. नौ

4. तीन

Question ID : 65497842188

Status : Answered

Chosen Option : 1

Q.15 भारतीय संिवधान के 61वŐ संशोधन ने ______ ।
Ans 1. अŜणाचल Ůदेश को पंचायती राज सं̾थाओं मŐ अनुसूिचत जाितयों के िलए आरƗण से छूट दी

2. मतदान की आयु 21 से घटाकर 18 वषŊ की थी

3. मंिũपįरषद के आकार को िवधायी सद˟ों की संƥा के 15% तक सीिमत कर िदया था

4. 'ओिड़या' की जगह 'उिड़या' िकया था

Question ID : 65497842712

Status : Answered

Chosen Option : 2

Q.16 भारत के संिवधान मŐ राǛ के नीित िनदőशक िसȠांतो ं को ______ संिवधान से िलया गया था।
Ans 1. ऑ̾टŌ ेिलया के

2. ˙ेन के

3. नावő के

4. आयरलœड के

Question ID : 65497842915

Status : Answered

Chosen Option : 4



Q.17 िनɻिलİखत मŐ से िकस िŰिटश अिधकारी ने कुƥात 'Ţॉिलंग ऑडŊर (crawling order)' जारी िकया था,
िजसके तहत भारतीयो ं को हाथ-पैरो ं के बल रŐगते Šए गली से गुजरना पड़ता था?

Ans 1. लॉडŊ कजŊन

2. वारेन हेİːंƺ

3. लॉडŊ इरिवन

4. जनरल डायर

Question ID : 65497842202

Status : Not Answered

Chosen Option : --

Q.18 कŐ ūीय भूजल बोडŊ, BIS (IS_10500 और संशोिधत मॉǰूल IS 10500:2012) के अनुसार, एकसमान
पेयजल गुणवȅा िनगरानी Ůोटोकॉल के िविनदőशो ं के अनुसार, भारत मŐ पेयजल िविनदőश का ˢीकायŊ
pH मानƐा है?

Ans 1.  3.5 - 5.5

2.  6.5 - 8.5

3.  4.5 - 9.5

4.  5.5 - 7.5

Question ID : 65497842802

Status : Not Answered

Chosen Option : --

Q.19 घूम मठ __________ मŐ İ̾थत है।
Ans 1. नामिच

2. गंगटोक

3. दािजŊिलंग

4. किलɼोगं

Question ID : 65497844207

Status : Not Answered

Chosen Option : --

Q.20 िनɻिलİखत मŐ से िकस देश ने ITTF (इंटरनेशनल टेबल टेिनस फेडरेशन) मिहला िवʷ कप 2020 की
मेजबानी की थी?

Ans 1. चीन

2. दिƗण कोįरया

3. जापान

4. िसंगापुर

Question ID : 65497844229

Status : Not Answered

Chosen Option : --



Q.21 िनɻिलİखत मŐ से कौन-सी भूˎलन की ʩापक शमन तकनीक नही ं है?

Ans 1. भूˎलन को रोकने के िलए वन˙ित आवरण मŐ कमी

2. सतह जल िनकासी िनयंũण बाįरश के पानी और झरने के Ůवाह के साथ भूˎलन की गित को िनयंिũत
करने का काम करता है

3. जमीन को İखसकने से रोकने के िलए įरटŐशन वॉल का िनमाŊण

4. भूˎलन संभािवत Ɨेũों का पता लगाने के िलए हैजडŊ मैिपंग

Question ID : 65497844218

Status : Not Answered

Chosen Option : --

Q.22 एक िविशʼ 'Ŭुपद शैली' ______ घराने से संबंिधत है।
Ans 1. अजरादा

2. िबˁुपुर

3. नाथȪारा

4. जाफ़रखानी

Question ID : 65497842893

Status : Not Answered

Chosen Option : --

Q.23 िनɻ मŐ से कौन सा मǅर का एक Ůकार नही ं है?

Ans 1. िलमुलस

2. Ɛूलेƛ

3. एनॉिफलीज़

4. एडीज

Question ID : 65497844211

Status : Answered

Chosen Option : 1

Q.24 िनɻिलİखत भारतीय ˢतंũता सेनािनयो ं मŐ से िकसे गांधीवादी िसȠांतो ं के Ůित िनʿा के िलए गांधी बुढ़ी
(बूढ़ी मिहला गांधी) कहा जाता था?

Ans 1. मातंिगनी हाज़रा

2. लीला रॉय

3. कमला चौधरी

4. दाƗायनी वेलायुधन

Question ID : 65497844221

Status : Not Answered

Chosen Option : --



Q.25 िनɻिलİखत मŐ से कौन सी मूल शीषŊ िवभǛोतक (root apical meristem) के बीच की परत है, जो
व̵कुट (cortex) को जɉ देती है?

Ans 1. डमőटोजेन (Dermatogen)

2. ɘेरोम (Plerome)

3. कैलीɐŌ ोजन (Calyptrogen)

4. पेįरबलम (Periblem)

Question ID : 65497842700

Status : Not Answered

Chosen Option : --

Q.1

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844236

Status : Answered

Chosen Option : 2

Q.2

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842837

Status : Answered

Chosen Option : 1

Section : Quantitative Aptitude



Q.3

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842434

Status : Answered

Chosen Option : 3

Q.4

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842926

Status : Answered

Chosen Option : 2

Q.5

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842224

Status : Answered

Chosen Option : 3



Q.6

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842942

Status : Answered

Chosen Option : 3

Q.7

Ans

1. 

2. 

3. 

4. 

Question ID : 65497842819

Status : Answered

Chosen Option : 2

Q.8

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844231

Status : Answered

Chosen Option : 1



Q.9

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844662

Status : Answered

Chosen Option : 2

Q.10

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842218

Status : Answered

Chosen Option : 3

Q.11

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843737

Status : Answered

Chosen Option : 2

Q.12

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842728

Status : Answered

Chosen Option : 4



Q.13

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843729

Status : Answered

Chosen Option : 2

Q.14

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842818

Status : Answered

Chosen Option : 4

Q.15

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842839

Status : Answered

Chosen Option : 3



Q.16

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842932

Status : Answered

Chosen Option : 1

Q.17

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842722

Status : Answered

Chosen Option : 1

Q.18

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842221

Status : Answered

Chosen Option : 1

Q.19

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842229

Status : Answered

Chosen Option : 3



Q.20

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842227

Status : Answered

Chosen Option : 2

Q.21

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842725

Status : Answered

Chosen Option : 4

Q.22

Ans

1. 

2. 

3. 

4. 

Question ID : 65497842735

Status : Answered

Chosen Option : 1



Q.23

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844246

Status : Not Answered

Chosen Option : --

Q.24

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844355

Status : Answered

Chosen Option : 4

Q.25

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842733

Status : Not Answered

Chosen Option : --



Q.1 Select the most appropriate synonym of the given word.

Amusement

Ans 1. Pleasure

2. Despair

3. Gloom

4. Boredom

Question ID : 65497842858

Status : Answered

Chosen Option : 1

Q.2 Select the option that expresses the given sentence in active voice.

Tall promises were being made by each promoter.

Ans 1. Each promoter has been making tall promises.

2. Each promoter was making tall promises.

3. Each promoter has made tall promises.

4. Each promoter made tall promises.

Question ID : 65497842241

Status : Answered

Chosen Option : 2

Q.3 Select the option that expresses the given sentence in passive voice.

She is looking after the old ladies with great affection.

Ans 1. The old ladies are being looked after with great affection.

2. She is looked after with great affection by the old ladies.

3. The old ladies are looked after with great affection.

4. The old ladies were looked after with great affection.

Question ID : 65497842846

Status : Answered

Chosen Option : 1

Q.4 Select the option that can be used as a one-word substitute for the given group of
words.

A person who works in a shop that sells cut flowers and plants 

Ans 1. Vendor

2. Dealer

3. Hawker

4. Florist 

Question ID : 65497842258

Status : Answered

Chosen Option : 4

Section : English Comprehension



Q.5 The following sentence has been split into segments. One of them may contain an
error. Identify the segment that contains a grammatical error. If you don’t find any
error, mark ‘No error’ as your answer.

Among you and me / she is quite rude / to the boy.

Ans 1. she is quite rude

2. No error

3. Among you and me

4. to the boy

Question ID : 65497842238

Status : Answered

Chosen Option : 3

Q.6 Given below are four jumbled sentences. Select the option that gives their correct
order.

A. Expert mechanics labored over the plane for three hours.
B. A small nut had fallen into a channel which prevented the gear from moving.
C.A huge plane was forced to crash land when its landing gear got stuck.
D. They were amazed when they discovered what had caused the mechanical failure.

Ans 1. BADC

2. ACBD

3. CADB

4. DBAC

Question ID : 65497842857

Status : Answered

Chosen Option : 3

Q.7 Select the most appropriate ANTONYM of the given word.

Proclaim

Ans 1. Exhibit

2. Conceal

3. Evince

4. Announce

Question ID : 65497842962

Status : Answered

Chosen Option : 2

Q.8 Select the most appropriate synonym of the given word.

Livid

Ans 1. Furious

2. Pale

3. Closed

4. Clear

Question ID : 65497842253

Status : Marked For Review

Chosen Option : 2



Q.9 Select the most appropriate ANTONYM of the given word.

Refined

Ans 1. Crude

2. Precise

3. Genteel

4. Miserly

Question ID : 65497844274

Status : Marked For Review

Chosen Option : 1

Q.10 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

I do not / like to read / these kind / of novels.

Ans 1. these kind

2. like to read

3. I do not

4. of novels

Question ID : 65497842946

Status : Answered

Chosen Option : 1

Q.11 Select the option that expresses the given sentence in indirect speech.

He said to me, “Do you own this beautiful car?”

Ans 1. He asked me did I own that beautiful car.

2. He asked to me if you own that beautiful car.

3. He asked me that if you owned this beautiful car.

4. He asked me if I owned that beautiful car.

Question ID : 65497842955

Status : Answered

Chosen Option : 4

Q.12 Select the option that will improve the underlined part of the given sentence. In case
no improvement is needed, select 'No improvement'.

We had to undergo a great many difficulties.

Ans 1. much great difficulties

2. No improvement 

3. a great many difficulty

4. great many difficulties

Question ID : 65497842856

Status : Marked For Review

Chosen Option : 1



Q.13 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Shall / we go / for walking / in the park?

Ans 1. we go

2. in the park

3. for walking

4. Shall

Question ID : 65497843044

Status : Marked For Review

Chosen Option : 4

Q.14 Select the most appropriate meaning of the given idiom.

Feast one’s eyes on

Ans 1. Arrange a delicious meal

2. Notice something alarming

3. Gaze at something with pleasure

4. Prepare a rare delicacy

Question ID : 65497842964

Status : Answered

Chosen Option : 3

Q.15 Select the option that will improve the underlined part of the given sentence. In case
no improvement is needed, select 'No improvement'.

You are so far the bright student in the class.

Ans 1. No improvement

2. so far most bright

3. by far the brightest

4. by so far the brighter

Question ID : 65497844269

Status : Answered

Chosen Option : 2

Q.16 Select the most appropriate meaning of the given idiom.

Cold comfort

Ans 1. Enjoyment in the hills

2. Unbearable weather

3. Very little satisfaction

4. Very soothing

Question ID : 65497844276

Status : Answered

Chosen Option : 3



Q.17 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

Vivek should be excited / on the promotion / he’s got.

Ans 1. on the promotion

2. Vivek should be excited

3. No error

4. he’s got

Question ID : 65497843549

Status : Answered

Chosen Option : 4

Q.18 Select the most appropriate option to fill in the blank.

Can you arrange for the consignment ______ delivered on Monday?

Ans 1. is

2. being

3. to be

4. for being

Question ID : 65497842766

Status : Answered

Chosen Option : 3

Q.19 Select the option that can be used as a one-word substitute for the given group of
words.

Policy of racial discrimination

Ans 1. Diplomacy

2. Commonwealth

3. Non-alignment

4. Apartheid

Question ID : 65497842764

Status : Answered

Chosen Option : 4

Q.20 Select the INCORRECTLY spelt word.

Ans 1. Altarnate

2. Allotted

3. Alphabet 

4. Allergic

Question ID : 65497842260

Status : Marked For Review

Chosen Option : 1



Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Dance as an artistic form of (1) ______ is extremely old. Evidence of dance as a (2) ______
form is available in ancient literary texts, painting and sculpture. (3) ______ of the dance
forms trace their roots to the (4) ______ of movement codified in the Natya Shastra (5)
______ by Bharat Muni.

SubQuestion No : 21

Q.21 Select the most appropriate option to fill in blank no.1.

Ans 1. suggestion

2. succession

3. expression

4. impression

Question ID : 65497842748

Status : Answered

Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Dance as an artistic form of (1) ______ is extremely old. Evidence of dance as a (2) ______
form is available in ancient literary texts, painting and sculpture. (3) ______ of the dance
forms trace their roots to the (4) ______ of movement codified in the Natya Shastra (5)
______ by Bharat Muni.

SubQuestion No : 22

Q.22 Select the most appropriate option to fill in blank no.2.

Ans 1. creative

2. created

3. creating

4. creation

Question ID : 65497842749

Status : Answered

Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Dance as an artistic form of (1) ______ is extremely old. Evidence of dance as a (2) ______
form is available in ancient literary texts, painting and sculpture. (3) ______ of the dance
forms trace their roots to the (4) ______ of movement codified in the Natya Shastra (5)
______ by Bharat Muni.

SubQuestion No : 23

Q.23 Select the most appropriate option to fill in blank no.3.

Ans 1. More

2. Any

3. Many

4. Much

Question ID : 65497842750

Status : Answered

Chosen Option : 3



Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Dance as an artistic form of (1) ______ is extremely old. Evidence of dance as a (2) ______
form is available in ancient literary texts, painting and sculpture. (3) ______ of the dance
forms trace their roots to the (4) ______ of movement codified in the Natya Shastra (5)
______ by Bharat Muni.

SubQuestion No : 24

Q.24 Select the most appropriate option to fill in blank no.4.

Ans 1. capacity

2. procedure

3. techniques

4. delivery

Question ID : 65497842751

Status : Answered

Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Dance as an artistic form of (1) ______ is extremely old. Evidence of dance as a (2) ______
form is available in ancient literary texts, painting and sculpture. (3) ______ of the dance
forms trace their roots to the (4) ______ of movement codified in the Natya Shastra (5)
______ by Bharat Muni.

SubQuestion No : 25

Q.25 Select the most appropriate option to fill in blank no.5.

Ans 1. disbursed

2. compiled

3. captured

4. dispersed

Question ID : 65497842752

Status : Answered

Chosen Option : 2


